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For the following properties for water, determine the water’s phase and sketch the state on p-v and T-v plots:  p = 10 
bar (abs), T = 179.88 °C 
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SOLUTION: 
Using the “Saturated Water – Pressure” table, at  p = 10 bar (abs), Tsat = 179.88 °C.  Since the given temperature is 
the same as the saturation temperature at this pressure, it means that the water is in a SLVM state.  It’s not possible 
to determine the corresponding specific volume since the water quality is not given.  We do know, however, that the 
specific volume should have a value 0.0011272 m3/kg £ v £ 0.19436 m3/kg. 
 
From the “Saturated Water – Pressure” table: 
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